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MAEUIN N

I " dadlr A7, /34, 0/

E AR RERRRERRRR AR aRatttitdtaititaniie
7 "INITIALITE MODULE:created-Wed.23,Feb. !9!3

ﬂ_ L]

7 CLEAR1000
10 PRINTCHRS (12) £ 1=b20=22: WIDTHEG,:
15 muﬂ.ﬁ.ﬁ.l:ﬁ“,’:ﬂ ol
20 LOCATED, !
30 PRIHTTHH!JJ'Illllllllllllll T Lan
40 PRINTTAB(J)*¢ J-D PERSPE ipy /
30 PRINTTAE(J)®# 'Jlrlinn L # /

-G

&0 PRINTTAB(I) "t

70 PRINTTABII) "8

80 mmﬁnm'mmuu i t %u 15 *
50 PRINT:PRINT A

95 PRINTTAB(J)® Mait doaiddd
400 *HERRRBRRRARRRERRRRNNIRART] t wm f <)

410 "Load asseably subroutine Ling'% Eras "{:J’_“{ 4
420 THERERBRRRRRRRRRRRRORRDNILL t;

500 F$="3D-asn.dat"

510 OPEN F$ AS §1

520 FIELD 41,128 AS A$,1
530 BOTO m .
540 DATA LHeS,kHcS, kHdS 3,*
550 DATA LH23,kHS6, 4H21, ¥
560 DATA LH90,LHSe, 4423, kHS6 , &80,

570 DATA kH12,kH23,4H13, 4HOG, LH79, kHbO, kHc2, kHla, kH9O
580 DATA kH21,4H00, kHOO, kH19,4H22, kH2F, 4H90, kHd1, bHc )

mm:-mmmwﬂmwmm

610 RESTORE 540
620 READ D1

SR RN I A INYIR Y

bS0 L=L#1 §

b0 BOTO 420

670 DEFUSR 0 = LH9000

480 LI=LHB000 'start address
890 Ki=1

700 GET #1,K1

710 D=

720 %= USR 0 (D$)

730 De=B4

74D X4= USR O (D)

750 KT=K1+1

760 IF L1 SHGIER THEN 800 ‘end address
770 LI=LI+kHBO

-F.Il" soid

Cr

e !'Il-.f g I
mg ECTE




780 LT=L1+kHBO

790 BOTO 700

800 CLOSE 81

100 "EasRRsRIRILRRRRRRRARRRLNALLY

4000 "Initialize systes paraseters

100 "ERIRARARRIRRRLINRARRRIRAIOLL

5000 ACO=0:ANV=0:AVS=0:DHI(0,00=0 ‘entry=0

5005 DB=10 "max. object entries allowed
5010 VX=(b40-8)/2 "screen x=A-413

5020 VY=1200-24)/2 "screen y=4-176(line0-21)
5030 vC=2 "screen correctio

5040 ED=VX/TANCIS044/(T6007)) "dist.
5050 SX=VX/ED *sid p.p inx o
S080 SYSVY/EDWE  's/d p.p iny
5070 CR=VX:CY=VY:F5=0 '#
5080 PSCALE=0:XSCALE=1:YSCALE=122
6000 LO=kHb19E:U1=kHE199: UE=kHb 182
5005 ADD=LkHEOIE
£010 DPEN"chain.stt® FOR OL
4020 PRINTH1, PSCALE; 18|

U1 jUE; UL ;ADD; 0B

Wnﬂ:

6030 CLOSERL
6032 REMOVE:MOUNTL

6035 DEFUSRO=UE

6036 X=USRO(0) ‘ Py

G040 TERRRRRIRRELERLIRRINERARLANIY l%}g )
¥ ol

5050 *  Modify Basic Load-hddrges <o
TR TTE T T TITEITERRTTRAR TR NALU) T SR
5070 L=tHb1E6 — =
6080 POKE LHEBSH, VAL (*kH*+NIDS (REXSLEL 22D
5090 POKE &HEBSS, VAL (i "4j

7000 R Mallr b G, L
»Vi -\'J

E 2
ﬂumwﬂmwmm
’QW’]MﬂiﬂJ UAIINYAY
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2 '/ldedlr.B/,/3d. B/

A TRRRRRRRRRRRRRRRRARRRRNRRRSRRRILILRNANY
S "INPUT MODULE:created -Fri 25,Feb. 1983
b sodified-Thu 4,Aug. 1983
FOTERERIRRRRRRR R ERARR R AR RR RN RN LR LILLYL
17 CLEARTO00

15 CONSOLE24, 2,0, 1:KEYS, "x=usr2(0) *+CHRS (13)
S0 TERRRRARRRRERNRRIARARRRRRARARLRNLLLL

40 "t 3-D PERSPECTIVE MODEL PROGRAM t

50 't Version A.1 : modular objects 4

50 '1 Jun., 1983 by
70 't TAREEPAN  TEEPASIRI

IR LA EEER LR EEEAEEA PR EATY t\ ,‘/-/‘f

B0 A$="chain®:DPENAS+".stt" 0R . "¢:g.__»

B3 CLOSE: DEFUSRO=U0: DEFUSR1=U1 ; DERUEE 28 06k

B4 DIN OTS(3), 0HL(3, 5), SOL4408) 5300, 2 3t u 8y
85 DATA 7,13,19,25,31,37, S, B b, 3¢t

B DATA 1,:,“.2,1.0,2,&,? B d ,U 1 3 "‘"_j i
87 DATA 6,11,17,22,28 '
BB DATA l‘]!,l",ﬂ.lg!.i,!. |! Y , ' !I ﬁw
B9 DATA &,11,16,21,26
90 DATA 4,5,1,4,0,1,5,2,1,0,245, 142, ( J:Wril 2y 3,4, 150
91 RESTOREBS:FORI=0T0105:READ SORLIJENENT <« .+ &
92 DATA bax,8,6,0,0, priss,b,5/0,42, pyr 7 _
93 RESTORE92:FORI=1TO3:READ OT$(LJ8FORIZ2Y0S READ DHEUL, J) NEXTJ:NEXT]
110 DIN SEBX(10,7),WC180,2) , V140, 2) 4

120 IFCHS()"new"THENAS=FW$; I=1: 6OTOL

81 INPUTH1,PSCALE, ISCALE,YS BLALE ISTALE ;A ,Ww
B2 IW",FE,“.W,“].[E; UL, rasily U ‘]_:;l’ \
579

230 nmw:m-omsmw-n e/ Ff e
240 Vi=(640-8) /2 =T

250 V¥=1200-24) /2 -‘!"_ .

260 VC=2

270 ED=VX/TAN(1S844/ (35087 ii:l tu pi:. phnl,.tp:rttrl
280 SI=VI/ED 's/d p.p ir:

290 SY=VY/EDIVC 2
300 CX=VX:CY=VY:F
310 PSCALE=1:
315 Fus="Jdteap":FI1$=FNs

1

320 PRI

330 LOCATEO,0:PRINT*3-D INPUT-EDIT MODULE®

1000 ’Hlllltlll

1001 *  MAIN

1002 *seeaneant

1010 LINEZ3,2:CH=15

1020 DATA new,assign, select, move, delete, feedback, load, save
1025 DATA view,erase,replay,renase, list,11ist,end

1030 RESTORE1020:1=1

1040 READ CM$:IFICCN THEN 1040

1050 GOSUB 1320

1060 PRINT*Type command or TAB for menu selection,and RETURN(/=cancel)®
1070 PRINT*COMNAND: *;

1080 GOSUB 1280

‘1&&}&3@ BIWLNT
B T NN Y
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105

1090 IF 18¢3* * THEN 1140
1100 IF CN=CN THEW CN=1:RESTORE 1020 ELSE CN=CN+1

1110 READ TN

1120 LOCATED,O:PRINT*3I-D INPUT-EDIT MODULE"

1122 GOSUB 1320:PRINT CH8*:*;

1125 0N CN BOSUB l!ll,l!li.1?13.1214.1215.I?lh,II’l?,l!lﬂ,!IH,11’2&,122!.]2’22.1!13.12!41I!Iﬁ
1130 6OTD 1070

1140 IF A$="" THEN 11%0
1160 READ CW$:1F AS=LEFTS$(CMS$,LEN(AS)) THEN 1190

1170 IFCNCCH THEW CN=CN+1:60TO 1140 |

1190 GOSUB 1320:PRINT CH$ |

1200 ONCN E0T010030, 30030, 10130 L 10070, 40355, 40415, 10330, 50000, 60000, 1205
1206 BEEP1:BEEPO:PRINT*3-Di

1210 "#+++++++ COMMAND HA

1150 CM=1:RESTORE 1020

1180 60SUB 1320:BEEP:PRINT*consand error.."

1205 mlmm,ﬂ,ﬂ.ltﬂ TCHRERLLZH:) ﬁmm e ———
1211 PRINT*clear all data®;

1213 PRINT"set current obj
1214 PRINT"update or give ne
1215 PRINT*selected object 4

1218 PRINT"world or image data
1219 PRINT"display parallel or

1221 PRINT*the image currently r i At
1222 PRINT"old data name to nn data na = :-

1224 PRINT"list numeric
1225 PRINT"exit progras
1250 *====== inkey I ._
1260 I$=INPUTS(1):RETURN — L’J
1280 Ag="* i

BN

1410 *====-= clear line 22

TSI ANgIa Y

10020 "seesnbRans

10030 ERASEONT,SEGY,NC,NV,ONI

10035 BOSUBAOTL0:EOTOT

10040 "taeeastssnassedtasiaesis

10050 * ORTHO & PERSPECTIVE

10060 "sessbasesasasasiitaniteg

10070 IFOHL0,0)=0THENPRINT*No data'®j:60T01120

10071 A$="chain®sDPENAS+".stt"FORDUTPUT ASHl

10072 PRINTH, PSCALE; XSCALE; YSCALE; I6CALE ; DSCALE; VI VY;VC;SX;SYCX;CY;
10073 PRINTHL,FS;CN;UO;UL;UE;UL; ADD; 0B CNS; ", " 1FHS; ", "
10074 CLOSER1:REMOVE:MOUNTI

10075 1=1:A8=FWs:E0SUB20040:RUN"Jdadlr.C"

10100 "sebsavpsaneessssnnineeny




10110 * SELECT, MOVE, DELETE

10120 "sonenspgnnnneniensann

10130 TFOHTI0,0)=0THENPRINT*No abject,”;:60TD10282

10131 IF CW$="feedback" THEN 10300

10132 TFFN$COFISTHENPRINT® Inconpatible data & image,”;:607010282
10133 *

10134 GOSUB 40340:GOSUB 40305 "replay selected

10140 GOSUB 1420: 1=5EBY (CSEG, 0) :J=5EGY (CSEE, )

10142 1=NCO(J,00:Y=NCOLJ,1):2=NCO(D,2}

10144 PRINTFN$"icurrent object®;CSEB; *="0T#(1)":location=";1;¥;1

10145 GOGUB 1320
10148 PRINT*TAB:display all or utn:t -
10150 ON CN-2 BOTO 10154, I{IIH,IMI

10152 '++44444+ SELECT
10154 PRINT® N:nextd,Prprior"
10156 PRINT:PRINT"selects®; :ROSUB-I280
10158 IF I$=" * THEN PRINT:GOSUR
10160 IF A$="/" THEN 10278 EASE PG
10162 IF A$C)"n" AND ASC)** TH
10164 CSEB=CSEG+1:1F CSEG=AVE TH
10166 6OTO 10136
10168 IF A$<)*p* BOTO 10154
10170 CSE6=CSEG-1:1F CSEGCI
10172 60T 10136

10174 #4444+ HOVE

10176 PRINT:PRINT*Nove to loca
10178 IF I$=" * THEN GOSUB 10288; ik
10180 IF A$="/" THEN 10278 ELSE PRINT/Coc - -
10181 C=SEGT(CSES,3)

10182 IF AS$¢)*r* THEN 10186
10184 INPUT"Relative location.
10186 IF ASC)"a® AND ASCHS
10188 INPUT*New location
10190 X=X-NCO(C,0) s Y=Y-NCO(
10192 FOR I=1 TO OHL(SEGYL(
10193 J=C+1-1

ll 2-M(
10),2)

i o S 2)7) 9

nm IF CSEB+1=AVS K=IV ELSE K=SEGI(CSEG+1,T)

LT Ty 14

10214 "#44444+ DELETE

10216 PRINT® RETURN: delete"

10218 PRINT:PRINT® :";:BOSUB 1280

10220 1F Is=" " THEN BOSUB 10288:PRINT:E0TO 10218

10222 IF A$="/" THEN 10278 ELSE PRINT

10224 IF ABCH"d™ AND ASC™™ THEM 10218

10226 '----- Deleting

10228 1=GE6T(CSEE, 3)1Y=5EGT(CSER, 4) 1 1=5E6T (CSER,T)

10230 IF CSEG+1=AVS THEN ACO=X:ANV=Y:IV=T:VLI(0,IV)=-1:60T0 10254
10232 *

10234 A=SEGT(CSEG+1,3)1B=SEGL(CSEG+1,4) 1C=SEGL(CSER+1,T)

10236 FOR 1=A TO ACO-1:FOR J=0 TO 2¢MCO{I-A+X,J)=NCO(1,J)sNEXT JsMEXT I
10238 FOR 1=B TO ANV-1:FOR J=0 TO 2:NV(I-B+Y,J)=NV(I,J):NEXT JsNEXT 1

106



10240 FOR 1=C T0 IV:FOR J=0 10 JaVLRJ, 1-C+D=VLRAJ, 10 NEXT J:NEXT 1
10241 ACO=ACO-A#X:ANV=ANV-B+Y 1 IV=1V-C+]

10242 °

10244 FOR I=1 TO AVS-I

10245 1F SEBX(1,3)>1 THEN SEBXIT,3)=SEER(I,3)-h+1
10248 IF SEGBT(I,4)5Y THEN SEGZ(I1,4)=8EBL(I1,4)-B+Y
10250 IF SEBTI1,7)>1 THEN SEGR(I,7)=8ERL(I,T)-C+1
10252 NEIT 1

10253 *

10254 A=5EBLICSEB,0): H=5EEI‘.'ESEE,11IE*EEHI‘.'C§EE,ZI'
10255 OHZ10,00=0HX(0,0)-12IFOHT (0, 0) COTHENOHZ
10256 OHT (A, 4)=0HT(A,4) 13 IFOHT (A, 4) COTHENE
10257 IF B=0 THEM OHI(A,0)=C ELSE SEGXIE,2
10258 IF C)0 THEN SEBRIC,1)=B
10260 IF CSEG+1=AVS THEN CSEG=CSEESTIEDTE 10274

10262 FOR 1=1 T0 AVS-2 :
10264 IF 1¢CSEG BOTD 10270 ""'-.--
10266 FOR J=0 T0 7:SEGX (1, 1)a868
10268 IF SEBL(1,1))CSEG THEN S§
10270 1F SEBLIT, 2))CSEE THE
10272 NEXT |
10273 *
10274 AVS=AVS-1:60SUB 40364
10276 *----- Dutall

10278 GOSUB 1320:605U8 403005 6
10280 '----- Outerr
10282 PRINT*can’t "CN$* (return
10284 BOSUB 1280: BOTO 1120
10286 *----- Highlight

10290 GOSUB 40360:60SUB AW
10292 "tppanneny -
10294 " FEEDBACK

10296 "srbpEtINd
10300 GOSUB 10301:60T0 11
10301 A$="t":PRINT

i P Wﬁﬁﬂ'ﬁ%‘ﬁﬂ ’

10308 IF As="1" III:T‘#IIEIIFIIE‘H! :T1=0:511=-1:60T0 10314

SIMEsEEERh

10316 IF SF=10 THEN PRINT:INPUT*Erase (y3/n)"jR$:1F A${>"n"THEN BOSUB 40340
10318 1¥=0:FOR 18=1 TO AVS-1:60SUB J1010:MEXT IS

10320 F1$=FN$:RETURN

10322 "eepateen

10324 *  RENAME

10326 " sepsaaeeny

10330 BOSUR 10331:60T0 1120

10331 AS=FWE:PRINT:PRINT*Rename world data "“FW$*" to:®";iINPUT A$
10333 IF FI4=FW$ THEN Fl1$=A%

10335 FW$=A%:RETURN

10340 *atpnarnany

10350 ' LODAD
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10360 "treeptsine

10370 EOSUB10590

10380 1F1=2 THEN 10510

10390 BOSUBIO0&10: IF ERL=10631 GOTO 10800

10400 FORJ=1T03:FORK=0TOS: INPUTH1,DHX(J,K) sNEXTK:NEXT)
10410 INPUTH1, AVS, ACO, ANV, DH (0, 0)

10420 '

10430 FORJ=1TOAVS-1:FORK=0T07: INPUT#1,SEBT(J,K) sNEXTK:NEXT)
10450 FORJ=0TOACO-1:FORK=0TO2: INPUTHI,NC(J,K) tNEXTK:NEXT)

10470 FORJ=0TOANV-1:FORK=0T02: INPUTHI,NV(J, \ flTﬂ:EﬂJ

10430 FORJ=0TOS: INPUTH1,ONIIJ) :NEXT)

10492 CSEB=1
10495 *

10500 1FI=1THENIOSAOELSECLOSE -...___,
10510 GOSUB10620: IF ERL=10631-IHEN-20800

10520 FORJ=0TO3:FORK=0TOIV: LA
10540 CLOSE: IFCN$="10ad" THENPS
10550 RETURN
10570 *
10380 '----- filenase open”
10590 I=3: INPUT*Datall world
10600 A$=FW$:PRINT: INPUT*Fid
10610 18=",an":60T010630
10620 1%=".ai"

10630 ON ERROR 6OTD 10640
10631 OPENAS+I$ FOR INPUT ASH
10632 IF 1%=".an" THEN FN$=A$
10633 IF I%=".ai" THEN FI$=A$
10640 RETURN

10650 I$=",mw":60T010670
10660 18=".ai"
10670 ON ERROR BOTO 10720 =~
10680 OPENAS+IS FOR INPUT-AS =
10690 PRINT:FORI=1TOAsBEEPL: 2 _ ‘ri
10695 PRINT*File("A$+18"Jexst, Illpla:l or Change {rlﬂ:!'ul

10700 IF B$="c* THEN GOSUB 10590:60T0

;ﬁﬁf::mmﬂmwmm

T ST UMM AN A 2

10840 PRINT® (return please)*;:60SUB 1280160701120

20000 'mmm

20010 ' SAVE

20020 "rasanste

20030 GOSUB10590

20080 IF1=2THEN20150

20050 GOSUB10650

20060 FORJ=1TO3:FORK=0TOS: PRINTHL,OHT(J,K); sNEXTKINEXTJ
20070 PRINTH1, AVS;ACO; ANV;OHT (0,00}

20075 *

20080 FORJ=1TOAVS-1sFORK=0T07: PRINTH1,SEBZ(J,K); tMEXTKINEXTI
20100 FORJ=0TOACO-1:FORK=0TD2: PRINTHL,NCI(J,K); tNEXTKINEIT)
20120 FORJ=0TOANYV-1:FORK=0TD2: PRINTRI,NVIJ,K); tNEXTK:NEIT)
20130 FORJ=0TOS: PRINTHI,OMX(J); tNEXTJ
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20035
20180 1F1=1THEN20180:ELSECLOSE

20150 GOSUBLO&L0:PRINTHL, IV;

20160 FORJI=0TOI:FORK=0TOIV: PRINTHL,VLL(J,K); tNEXTK:INEIT)
20180 CLOSE:REMOVE:MOUNT]

20185 IFCM$="save" THENPRINT"ok";:GOTO1120

20190 RETURN

J0000 "tEeRantnNg

30010 * ASSIGN

10020 "ssstantang

30030 *4+++++++ FEEDBACK SCREEN ASSIEN
10120 1FSF=10THEN30301
J0130. GOSUBAOTAO "erase
30135 IFFS=0THENA=1ELSEA=2
J0140 B=INT(VCSVYSA/PSCALE) :
0145 I18=LEFTS(STRS (1
30150 PRINT*Feedback*F5*;di
30160 18="n":INPUT". .Mant to"Eha
30170 IFI$C>*y"THENI0250 ELSEE ‘ '] — \

J0180 INPUT*Origin 0.cente abton=] g1, 2: 00 wus tap-r,#top-1)"yFS
J0185 1FFSI4THENFS=0 : . ' \

30185 L=VX82:PRINT

\W

10195 IFFS=0THEMA=1ELSEA=2
10200 PSCALE=VX/L®A

30240 1FFS=2THENCI=28V1:CY=01 GOTO30140
0245 IFFF!TINI-&:M»E:W&*;J
10250 GOSUB1A20

30254 C=CY/PSCALEIVE: D= (E
30260 PRINT*D:°F5* X1*A",.%
30265 LOCATEQ, 24:PRINT
30270 *s++444+ DISPLAY rmw 16N FOR ALL

10275 1FOHTL0,0) =0T}
0 I 19 0 TUNINYINT
30295 "esbeeis OBJEC HTIRIHHEE k SPACE ALLOC.

30300 IF

i l,sxmamzw WINYIaY
30302 1F14=""THEMR=1:60T030303

10303 IFISI'I‘TEIII!#

J0304 IFIS<*1"DRI$>"3I*THENIO301 ELSER=VAL(I%)

30305 LOCATE7,23:0NREOTO30305, 30307, 30308

30306 PRINT*box  ":BOTO30310

J0307 PRINT®prisa *:607T030310

30308 PRINT"pyranid®

J0310 PRINT:INPUT*Dimension in x,y,z="jW,0,H

J0320 PRINT: INPUT*location of bottom-left poinktix,y,z)="j1,¥,1

30330 IFOHT(R,0)=0THENDHL(R,0)=AVS: I=0:60T0 30370

30340 IS=OHL(R,0) 'lst segment

30350 IFSEBX(15,2)<>0THENIS=SEET (16, 2) : GOTOSOTS0

J0360 SEBX(IS,2)=AVE:I=15

J0370 18=AVS: [C=ACO: INV=ANV



30380 SEG1(15,00=R:5EGY(15,1)=1:5ERT(15,2)=0s5E6L (15,30 =1CsBEBRIIS, 4)=INV
30385 CSEB=18

J0430 ON R 6OTO 30440, 30520, 30580

J0440 ' #4444+ DATA MWODULE

J0450 " 13880 box

30450 FORJ=0TODL:MC(IC+d,00=0:NC(IC++2,00=X+H:WCIIC+I+4,0)=0:NC(IC+I+4,0)=T+H
30470 NEXT:FORJ=0TOT:MC{1C+d, 1) =Y:NEXT

J0480 FORI=1TO2:WCUIC+], 1)=Y+D:NCIIC+J+4,1)=Y+D:NEXT

30490 FORI=0TO3:NC(IC+],2)0=1:WC(1C+J+4,2)=T+H:NEXT

J0500 A$="5B713626737B4R85123":60TOI0AE0

J0510 43088 prisa
30520 FORJ=OTO1:MC{IC4+J, 0)=N:MWCIIC+J+2 L

X H §44, 0) X4/ 26 NEXT
30550 NC(IC, D=Y:HCLICHS, D=Y:MCUIGH, DS /
30540 NC(IC#1, 1)=YaD:NC(1C+2, 1)=#BaNELCSS, 1) =Y
30550 FORI=0TO3:NCAICH), 2)=11) 4,2)5 m&y
30560 n=-¢5umummuw 1
30570 " 448808 pyrasid r.

10580 memhmumig ‘

30590 WC(IC+4, 0)=X+i/2:HC (I, Lis¥: et
30600 WCIIC+1,1)=Y4DsNCII Dy
30610 FORJ=OTOS:MCIICH]),2)=14)
30620 As="451152253354123"
30630 '+++44++ ROTATE DATA
30640 18=*":PRINT: INPUT*Rot akflc
30650 TFI8="x"THENA=1:B=2: 60701065
30660 IFI$="y*THENA=0:B=2160TOS04E
30670 IF1$="2*THENA=0:B=1ELSEPRTNT: GOTOA0RT0
30680 DB=-DE144/(36017)
30690 FORJ=1TOOHL(R,2)
30692 C=IC+1-11E=MC(C,A) tF=NCIC,B).
30700 WCIC,A)=ESCOS(DE)=FASINIDE)

30710 WC(C,B)=FICOS (DB)SEISINIDG) 1N
30711 X1=HC(IC,0)-X1 Y14
30712 FORJ=1TOONL(R,2)
30713 C=IC+J-1:MC(C, 00 =NCIL,0)

T AW 01 e a) S

30720 *+4++44+ CONP
wh

30730 FORI=1TOOHLLR,

30740 A<VAL (NIDS (38,315;

30750 X=NC(IC+B-1,00:Y=NC (1C+8-1, 1) 1 2=HC(IC+B-1,2)

30760 X -1,00-1s 125 -1,00- o o/
o R AERE U INENR Y
30780 71=KC(IC+A-1,2)=212=NCNIC+C=1,2):

JOTR0 NV IINV+I-1,00=Y1822-110Y2+1

30800 NVIINV+J-1, 1) =218X2-X18224Y

30810 NVINV+3=1,2) =X18Y2-Y18X2+ 11 NEXT

30820 *+++++++ UPDATE ORTHO. NIN-NAX & SCALE

30822 1FOHY(0,0) Y0THENA=1: 601030830

30823 FORJ=0TO2:0MX (J42)=NCIIC, ) 1 ONX (J32+1)=HCLIC, J) tNEXT2A=2

30830 FORJ=ATOOHE (R, 2) :FOR1=0T02

J0840 IFWCIIC+J-1,1)30MX(I82) THENOMX (182)=NC(IC+J-1,1)

30850 TFNC(IC+3-1,1)CONX(182¢1) THENONX (132+1)=MC{IC+d-1,1)

30855 NEXTI:NEXT

1080 J=02C=VX:B0SUBI0870: IFXSCALEDA THENISCALE=A

30861 J=1:C=VY4VC:BOSUBI0B70: IFYSCALEXA THENYSCALE=A
30862 J=2:G0SUBJ0BT70: IFISCALEA THENISCALE=A

110



30863 IF OSCALE)ISCALE THEN OSCALE=XSCALE
30864 IF OSCALE)YSCALE THEN DSCALE=YSCALE

30865 IF OSCALE>ISCALE THEN DSCALE=ISCALE

10866 60T030900

30869 ' -~ scale

30870 1FONX(J42)=0THENA=1ELSEA=ABS (C/ONX (J32))
30871 IFOMX(J82+1) =0THENB=1ELSER=ABS (C/ONX(J1241))
30872 TFABTHENA=B:RETURN

J0890 *+++444+ FEEDBACK L ENDING

30900 BOSUB31010
30910 AVS=AVS+!

30920 ACD=ACD+DH1(R,2)
30930 ANV=ANVHOHL(R,3)
30940 DHL (R, A)=0HX (R, 4) +120H1 (0,04
30945 IFOHL(0,1)=0 AND AVS)DB THEN-PRINI
30950 INPUT*Another locationlyée

ow) *$ 160701070

30970 PRINT: INPUT*Another «
31000 *—----- feedback
31010 R=SEBL(IS,0) ; IC=SEE
31020 FORI=0TOOHY(R,2)-1
31025  SC{1,0)=PSCALESNC
31030 SC(I,1)=PSCALESNC(IC+
31035 1L=0:60SUB32010:SE6L(15,7)=]
31040 FORI=0TOIL-1:60SUB40220¢NE
31050 GOSUBA0300:RETURN |
32000 * visible line
32010 N=DHLIR,3) 'no. of surface
32015 PR=OHL(R,5) ’point to sol .
32020 IW = SEBL(IS, ) S
32025 TFOTS(R)="pyranid" Tk
32030 FORT=1TON
40000 J=INV(I-1) gint
40010  IR=B0(PR+1-1)+P Yinternal pai
40020  P2=SO0T(IR) ' pmt of surf,
40030 '8ARRE test ny

40110 ‘i ]u ﬂ“’a wrﬂ mﬂj w EJ q ﬂ j

40120 LNRLIL, 00 IIIt-H "Ist point (mglative)

Al N UA Y

40160 TeT-1:1F T<=0 THEN I=N

40170 NEXT I:IIET!H

R0210 *--—--—- Viewport Transformation

40220 A=LNT(I,0)-1:B=LNT(1,1)~1:1F (ADRB) (OTHENRETURN
40230 VLT(0,1V)=5C(A,0)+C1

40240 VL1, IV)=CY-SC(A, 1)

40250 VL1(2, IV)=SC(B, 00 +CK

40260 VLT(3,IV)=CY-SC(B, 1)1 IV=IVv+1

A0280 RETURN

40290 *------- DRANLINE

40300 SF=10:A=VARPTR(VL1(0,001:B80T0 40310 *all
40303 IF CSEG+1=AVS THEN SAV=1V ELSE SAV=SEGT(CSEG+1,7)
40304 SYLI=VLI(0,5AV)1VLT(0, 5AV)=-1

40308 C=SEGY(CSEG,7)

list

40090 IF NCI



K0309 SF=1:A=VARPTRIVLY(O,C)) 'selected
40710 POKE ADD,VAL ("kH"+MID$ (HEXS(A),3,2))

A0320 POKE ADD+1,VALI"%H"+NIDS (HEXS(A),1,2))

R0I25 A=USRIM0):IF SF=1 THEN WLY(0,5AV)=5VL1

40326 RETURN

40330 "eenanenene

40340 *  ERASE

40350 "apnsatnany

40355 GOSUBO3L0:6OTD1120

40360 X=USRZ(0):5F=0:RETURN

40390 "sreantnnne

ADA00 *  REPLAY

40410 "ErarRInINY

40415 GOSUBAO300:B0TD1120
45000 "setsnneny

45010 *  LIST

45020 "seRnnanens

50000 QR=0:60SUBA03L0

50001 GR=0R+1:01=0:02=-1:IF0I
50002 ONGREOTD 52000,
50003 LOCATEO, 24:PRINT*
0004 1$=INPUTS(D)
50005 RETURN

50006 *

52000 Q1=02+1:Q2=02+19:IF
52002 GOSUBS9000

52004 PRINT*VL1:viewing-lines lis
52005 PRINT TAB(2);*lined*;TABILY
52004 PRINT
52010 FORI=Q17T0Q2:PRINT Tlll!hlﬁlw
52012 PRINT TAB(10);USING
S2014 PRINT TABI20) ;USIMS
52016 PRINT TAB(40);USING #!
52020 PRINT TAB(S0);USING"S
52030 GOSUB S0003: IF1% HH'IEI m
ﬂﬂlﬂ IF @2=21v-1 THEN 50001 ELEE 52000

s @6k WAE) Y TV BT

ﬂWi FﬁIlI'Lllllmﬂ‘llnd-ﬂmtl list®:PRINT

S A TV YT 6

33014 PIIIT TAB(21) USING" ¥R ;LN (T, 1) tNEXT

53030 GOSUB 50003: IF1#<)CHRS (13) THEN 59900

53040 IF @2=)IL THEN 50001 ELSE 53000

53050 *

54000 Q1=02+1:02=02+19:1F Q2OANV THEN Q2=ANV

54002 60SUB59000

4004 PRINT*NVinorsal vectors list®:PRINT

4005 PRINT TAB(S);"recd";TAB(15);" X";TAB(25);" Y*;TAB(3S);* I*:PRINT
S4010 FORI=QITOQ2:PRINT TAB(S);1;TABC10) ;USTNG BRREE, HRE*jNV(1,00;
54020 PRINT TAB(20) jUSING*NREES, HE*;NV(I, 1);

S4025 PRINT TABI30);USING SHERS, BRE*jNVL1,2) 1NEXT]

54030 GOSUB S0003: IFI$CICHRS (13)THEN 59900

SA4040 IF Q2=DANV THEN 50001 ELSE 54000



54050 *

55000 GOSUBS?000
J3004 PRINT*OHY:object header record":PRINT

55005 PRINT TAB(S);"rec#";TAB(10);"1st-segl®; TAB(20); reserve®;

55007 PRINT TAB(30);*co-addr®; TAB(40) ; *surfaces®; TAB(S0) ; "objects®;

S5008 PRINT TABI40); "sol-addr™:PRINT

33010 FORI=0TOJ:PRINT TRBIS);I;

35015 FORJ=0TOS:PRINT TAB{1082+10) ;USING"##8*;OHT (1,01 5sMEXTIsPRINT:NEIT]
55030 GOSUB 50003: IFI$COCHRS13) THEM 59900 ELSE 50001

33050 *

6000 01=02+1:02=02+19:1F @2)AVS-1 ‘-E'rEI 2
54002 GOSUBS9000

56004 PRINT®SEBL:object segeent header
56005 PRINT TAB(2);"seq#"; TAB(12);"tys
56007 PRINT TAB(34); "NCO-addr "3 TAB444)
56008 PRINT TABISI)}"..r

36015 FORJ=0TO7:PRINT TAB(4
56030 BOSUB 50003: IF1$<)CHR® Lis
56040 IF @2=3AVS-1 THEN S000]

36050 *
57000 Q1=02+1:02=02+19: IF G@XA
57002 G0SUBS000
37004 PRINT*WCO:world coordis

S7014 PRINT TAB(20);USING*$H¥4¥, 152

‘57030 0SUB mnrmmmmmw ‘; S5

57040 IF Q2<)AC0 THEN 5000} ELSE 57000

58000 GOSUB 59000

58001 PRINT*NAX I,Y coordi

58003 PRINT® 1 ;mun.mm' LA 000

s e vt wioid 3 1\ 27719
58006 mmumr; 1 T

58008 PH
e M AN
56010 PRINTG"X

58030 PRINT *1SCALE 1 *ISCALE

58040 PRINT *OSCALE : *DSCALE

59000 PRINTCHRS (12) $LOCATEO, O:RETURN

59900 PRINTCHRS (12) :BOSUBAOI00:E0TOL120

59902 * LLIST

59903 'eaesetanna

60010 LPRINT*VLItviewing=lines list®:LPRINT

60020 LPRINT TAB(2)3*1ined*; TAB{LL{*K1*5TAB(21)5*Y1" ;TABIA1) 5 *X2°; TAB(S1); *¥2

57020 PRINT TAB(30);USING® HRERE, B1I";MC
37050

: 3
58002 PRINT TAB(15);"max." mn-m. :PRIIT
38005 PRINT*
8007 PRINT®  I";TABUL1);USING™REEHE. $80";0NX(4);
58020 FIIIIT *YSCALE : "YSCALE
58050 BOSUB SO003:IFISCOCHRE(13) THEN 59900 ELSE S0001
39901 "EeRRRRELLY
40000 PRINT"Please set papaer and hit return®;
60030 LPRINT



50040 FORI=OTOIL:LPRINT TABI3);USING"BER";1;

50050 LPRINT TABCLON; USING® #88* ;VLY(0,1);

50060 LPRINT TAB(200;USING" BRE";VLYI(1,1);

GOGT0 LPRINT TAB(A0);USTHE"SEE";VLY(Z,1);

50080 LPRINT TAB(S50);USING® 48" ; VLT3, 1) tNEXT

s0110 °

60120 LPRINT:LPRINT:LPRINT:LPRINT*LNT:1ine end-points list*:LPRINT
60130 LPRINT TAB(Z);"line#*;TAB(10); point]1®;TABI20); point2" sLPRINT
60140 FORI=0TOIL:LPRINT TABI(3);USING"¥EE";1;

b0150 LPRINT TAB(11)jUSING"#38" jLNX(1,00;
b01560 LPRINT TMI!lI;HElIE'Hl';LIIItI,I} E

60210 LPRINT TAB(S); rect®; TAB(15);* K*s TABI25) {4 4 * 1*SLPRINT
60220 FORT=OTOANV:LPRINT TAB(S);1: TABG10)50S
50230 LPRINT TAB(20);USING" H¥biike

60240 LPRINT TAB(30);USING"#4
60250 *
60300 LPRINT:LPRINTSLPRINTS

50320 LPRINT TAB(30);"co-
60330 LPRINT TABIA0); *sol-adds

50400 LPRINT:LPRINT:LPRINT:LP

E0430 LPRINT TABIS3);"..reserve.."}
50440 FORT=0TOAVS-1:LPRINT TAB(3);US :
60450 FORJ=OTOT:LPRINT m:mumﬂﬂ"ﬁi’;

e i“w WA

50572 LPRINT TAB(LS); *max. ;Tﬁl[lﬂ; min. "gLPRINT

SR 131816

LFII
50580 LPRINT TAB(25);USING™ HEREE, $03*;DNX(3)

50585 LPRINT®  1*;TAB(11) ;USING"HANE. 100 ;0NX (4);

£0590 LPRINT TAB(26); USING™ HIEHY. HHA*; N1 (5)

40600 LPRINT:LPRINT:LPRINT:LPRINT:LPRINT *PSCALE 1 *PSCALE

b0510 LPRINT *XSCALE : "XSCALE

50620 LPRINT "YSCALE : *YSCALE

50430 LPRINT *1SCALE : “ISCALE

50640 LPRINT *DSCALE : "DSCALE

&5000 BOTOI120



2 '/3dedlr.C/,/3d.C/
Torseansssrasnannnannnaananansinin
S5 "DISPLAY WODULE:created -Feb 18,1983
i ! sodified-Mar 16,1983
JO "ORRERRRRRRARRRRLRRRRRNRRRRAIIALNNNL
40 '% 3-D PERSPECTIVE WODEL PROGRAM 1
50 't Version A.1 : sodular objects
80 '3 Mar,, 1983 by 1
70 '3 TAREEPAN TEEPASIRI |
T3 "ERRARNRRRRRRRRRRRRRINARRRARLENNNS
76 CONSOLE24,2,0,1

B0 A$="chain":OPENAS+".stt" FOR INPUT ASH
il INPUT#1, PSCALE, XSCALE, YSCALE, ~ﬁ% E, VX,

82 INPUTH1,FS,CN, U0, U1, UE, UL, ADD, D ; hh
M nm:moﬂ»:mmwn DEFUS

84 DIN DT$(3),0H%13,8), smur""
85 DATA 7,13,19,25,31,37, 5,7,
86 DATA 1,5,6,2,1,0,2,4,7,3 s LBi 1,

87 DATA &,11,17,22,28
88 DATA 4,5,1,4,0,1,5,5,2,
89 DATA &,11,16,21,25
90 DATA 4,5,1,4,0,1,5,2,1,0,
91 RESTOREBS:FOR1=0T0105:
92 DATA box,8,5,0,0, prisa, b
93 RESTOREY2:FORI=1T03:
110 DIN SEGZ(10,7),KC(80,2) , NV
120 DIN SC(100,1,2),LNE(120, 1,
130 DIN ONL(S)

320 LOCATEQ, 24 I=1:A$=Fi$:60SUB MSW w
1000 *saassnnnss ,1'1

1001 " MAIN ;
1002 "waannnaase
1010 LINE23, 2:CH=13
1020 DATA new,assign,select,move,delete,

1025 DATA ﬂn,tml,rlphy,rmm,lut uut,m
1030 RESTORE1020: 1=1

:mﬂr,;:ﬂﬂwﬂ'nwﬂmwmm

1060 PRINT*Type coaland or TAB for menu ul;etm yand RETURM (/=cancel)*
lﬁ?ﬂ PRINT®

s %mnmwnwmaa

1100 IF THEN CN=1:RESTORE 1020 ELSE CN=CN¢1

1110 READ CN$

1120 LOCATEO,0:PRINT*3-D DISPLAY NODULE®

1122 GOSUB 1320:PRINT CH$":*;

1125 ON CN BOSUB 1201,1212, 1213, 1214, 1215, 1216,1217,1218,1219, 1220, 1221, 1222, 1223, 1224, 1225
1130 B0TO 1070

1140 IF A$="" THEN 1190

1150 CN=1:RESTORE 1020

1160 READ CN#:IF AS=LEFTS(CM$,LEN(A%)) THEN 1190

1170 IFCNCCH THEN CN=CN+1:B0TO 1160

1180 GOSUB 1320:BEEP:PRINT*comsand error..";:60T0 1060

1190 BOSUB 1320:PRINT CN$

1200 ONCN 60TD10070, 10070, 10070, 10070, 10070, 10070, 10370,20030, 30030, 40355, 40415, 10330, 10070, 10070,1205




1205 CLOSE:CONSOLEOD, 25,0, 1:PRINTCHRS (12) 2 X=USR2(0}

1206 BEEP1:BEEPD:PRINT®3-Disensional lmage Model Stop":END
1210 '+++++++ COMMAND MASSRGE

1211 PRINT®clear all data®:RETURN

1212 PRINT*new dimension & location of choosen object®:RETURN
1213 PRINT*set current object entry®:RETURN

1214 PRINT*update or give new location of current object entry®:RETURN
1215 PRINT"selected object entry®:RETURN

1216 PRINT"regenerate feedback view of all objects®:RETURN
1217 PRINT*world or image data from disk file" HETIIIH

1218 PﬂIlT'ltrlﬂ or isage data to disk file":RETURN

1224 PRINT*list numerical d
1225 PRINT®exit prograa®:REL
1250 *—==—=- inkey

1260 I1$=INPUTS (1) :RETURN
Im nhll

1230 GOSUB 1260:1F I¢=" *
1300 PRINTI$;:A$=A%+1$:60
1310 '-=---- clear line 23
1320 LINE23, 2:LOCATEO, 231
1410 *=-=—=-= clear line 22
1420 LOCATEO,22:PRINTSTRING$ (7Y,
10040 *seesasisnssbbaninisRRInd
10050 " INPUT-EDIT wodule
10050 "espsasnassbRRERRRIIRLY
10070 A$="chain®:0PENAB+*\gtL'F
10072 PRINT#1,PSCALE; XSCALESY
10073 PRINTH1, FS;CN; U051 065 UL
10074 CLOSE#1:REMOVE:NOUN ﬁ
10075 RUN"3dadlr.B"

10322 'ttlﬂlllll

10324 '

:g:;;;'::;;ﬂuummmwmm

10331 AS=FH$:PRINT:PRINT*Renane world data '*FW$*" to: ;llﬂ‘-llt ]
10333

SR N T NN

10350 "sapsaating

10370 60SUB10590

10380 1F1=2 THEN 10510

10390 GOSUB10610:1F ERL=10631 BOTO 10800

10400 FORJ=1T03:FORK=0T0S: INPUT#1,DHI(J,K) :NEXTK:NEXTI
10410 INPUTHI,AVS,ACD, ANV, DHL(0,0)

10420 *

10430 FORJ=1T0AVS-1:FORK=0TO7: INPUT#1,SEETLJ,K) INERTK:NEXTY
10450 FORJ=0TOACO-1:FORK=0TD2: INPUTHL,MC(J,K) sMEXTK:NEITJ
10470 FORJ=O0TOANV-1:FORK=0T02: INPUTHI,NVIJ,K) tNEXTK:NEXTY
10490 FORJ=0TOS: INPUTHI,ONXIJ) tNEITY

10492 CSEB=1



10495 '

10500 IFI=1THENIOS40ELSECLOSE

10510 BDSUBLO620:IF ERL=10631 THEN 10BOO ELSE INPUTHL,IV
10520 FORJ=0TD3:FORK=0TOIV: INPUTHI,VLX(J,K) liEITIhIEIH
10540 CLODSE: IFA$¢ )" chain® Tmll‘l'ot'

10550 IF CM#="load™ THEN 1120 ELSE RETURM

10570 *

10580 '--—-- tilename open

10590 I=3: INPUT"Data(l world,2 image,d botht)=";l

10600 AS=FWS:PRINT: INPUT*File name=";A$:RETURN

10610 1%=",an":60T010630

10620 182", ai" \ ‘ ,
o e \\\'///4.'
10632 IF I8=".on" THEN FUS=hS o @

10833 IF I$=".ni" THEN FII-'-M

10540 RETURN

10650 19=",mw":60T010470

10840 1$=".ui"

10670 ON ERROR GOTO 10720 ]

10680 DPENAS+I$ FOR INPUT AS '
10690 PRINT:FORI=1T04:BEEP1 ', ,'
10693 HIIT'FilH'h‘HI!')ﬂ st Iti

E |

10710 IF BS{>"" AND BS{>"r® THEM
10720 DPENA$+1% FOR DUTPUT ASH
10730 RETURN

10790 '-—-—-- File not found

10840 PRINT* (return ;ufﬁ ;m
20000 " 118882800

20010 ' SAVE i -
20020 * 8880880 D ' jﬂ
20030 6OSUB10590 '

20040 1F1=2THEN20150

Hﬁiﬁﬁmfﬂmw@w H1NT
L A1 £ 6

20100 FOR
20120 FORY K=

20130 FORJ=0TOS: PRINTH1,OMX(J); :NEXTJ

20135 *

20140 IFI=1THEN20180: ELSECLOSE

20150 BOSUB10&L0:PRINTEL, IV;

20160 FORJ=0TO3:FORK=0TOIV: PRINTH1,VLI(J,K); sNEXTK:NEXT)

20180 CLOSE:REMOVE: MOUNT1: IFA$<)"chain® THENPRINT ok " 16001120

20190 RETURN

J0000 "passessene

J0010 * DISPLAY

30020 *aeavpnsene

J0030 IF OHX(0,0)=0 THEN PRINT"No displayable data.."js60T0 1120

30040 AS="tufrbliap®

30050 PRINT:PRINT*Top,up, front,right,back,left,iso.,axo.,or perspective:*;

117



30060 GOSUB 1260

30070 IF I%="/" THEN PRINT:GOTO 1120 ELSE PRINT 1%
30080 ID=INSTRIAS,18):1F 1D=0 THEN 30050

30090 A$=MID$(A$,1D,1)

30100 IF IDCXSF THEM J0130

J0110 PRINT:PRINT*Display “A$" already (return pleasel®;

30120 GOSUR 1240:60TD 30050

30130 LOCATET,23:PRINT":";

50140 ON ID BOTO 301b0,30170,30180,30190,30200,30210, 30280, 30280, 30490
30150 *€{{{{<{ DRTHO. VIEWING PARAM. and TWH!I!TIM

30170 A=0:B=1:C=2: Sl=1 :62=-1:53=1 :EF ¥
30180 A=0:B=2:C=1: §1=1 152=1 153=1 YERINT*FRE
30190 A=1:B=21C=0: Sl=1 :52=1 153 ,
30200 A=0:B=2:C=1: 51=-1:52=1 sfd=-
30210 A=1:B=2:C=0: S1=-1:52=
30220 FOR 1=0T0 ACO-1
30230 SC(I,1,0)=0SCALES
30240 SC(I,1,1)=0SCALESNC(] B
30250 SC(1,1,20=NC(I,C)8
30260 NEXT:GOTO 30870
30270 *¢{LCCL 180, VIENT
30280 PRINT® ISONATRIC®: I$="fr"
30290 PRINT: INPUT*Nhich(frt
30300 LOCATE17,2314=100:F=115.
30310 IF I$="fr" THEN XF=A :
30320 IF I$="§1" THEN XF=-A:YF=-
30330 1F I$="br* THEN XF=A :YF=A':PRINE® Bart-right*s 80N
30340 IF 1$="b1* THEN XF=-A:YF=A mm‘ﬁr fefl ;
30350 IF I#="/" THEN 1120 ELSE 30266 - 4
0360 *€CCCCCC AXD. VIEVING PARAN.
30370 PRINT*ATONDHETRIC

30380 D=200:50SUB 30430
30390 LOCATE20, 23:PRINT* uﬂ;u
30400 XT=0:YT=011T=0 :
30410 GOTO 30640

30420 *

J0430 H=-45:V=45 HW w ﬂ i
J0440 PRINT: INPUT froathoriz. ilqrn,vlr degree(from x-axis))= iHy

J0ASO A=HEAR/ (35087) 1 B=VEAR/ (3608T7)

s e {{mmm UAAINYAY

304590 FIIIIIT‘PEHSFH:TI\'E':IH' g

30495 ED=0:FORI=0TOASTEP2: A=0MX (1)-OMX(1+1):ED=ED+ASA:NEIT

304597 ED=SOR(ED)/2/TAN(LL/60) "dist. in 30/2 degrees

J0500 PRINT: INPUT"Eye point in coordinate or degreelct/d)";14

30510 1F 18¢>"d" THEN 30540

J0520 D=ED: INPUT"Distance from origin="3D

30530 GOSUB 30430:60T0 30620

J0540 INPUT*View from pointlx,y,z)=";XF,YF,1F:1%="0":PRINT

30550 IMPUT*View destination in coordinate or degree from eye or originic/d/o8)";I4
30560 IF 18<>"d" THEN 30420

30570 D=ED

J0SB0 INPUT*View directionlhoriz. degree,vert, degreel="yH, ViPRINT
J0590  A=HRA4/ (35087):B=VIRAS (36017)




30400 1T=-DASIN(A) +IF: D=DICOS (A)

30610 YT=-D4SIN(B) +YF: XT=-DACOS(B)+XF:BOTO 30540

10620 IF 19¢>"c® THEN XT=0:¥T7=0:17=0:60T0 J0440

30630 INPUT*View to pointlx,y,z)=";XT,¥T,IT

30640 LOCATE20, 23:PRINT*View froa*XF*,"¥F", *IF*to*XT*,*YT*,*1T
T0450 *{{{{{C{ WON-ORTHO. VIEWING TRANSFORMATION

10650 A=XT-YF:B=YT-YF:C=1T-IF

J0470 IF ID=% THEM [B=0 ELSE IB=l

30680 IF (A OR B)¢)0 THEN 30780
30690 IF C{=0 THEN 30740
30700 FOR 1=0 T0 ACO-1

30710 SC(I,1B,0)=XF-HC(1,0)
30720 SC(1,IB,1)=HC(1,1)-YF
30730 SC(I,1B,2)=NC(1,2)-2F:N
30740 FOR 1=0 TD ACO-1 —————
10750 EttI.ln.N-Il‘.‘.tI,N-V
10760 ml,ll,u:mu,u:/
30770 SCU1,18,2)=1F-NC(I ,

30780 D=5QR(AA+BIB)
30790 E=SOR(DIDHCAC)
30800 FOR I=0 TO ACO-1
30810 X=XF-WC(1,0)s¥=YF
JOB20 S=ARY+BRY

30830 SC(1,1B,00=(ARY-BRX)/
30840 SCUI,1B,1)=(CaS/
30850 SC(I,1B,2)=-(S4CHT)/Es
30860 *(<(¢{(< VISTBLE-SURF
30870 IL=0:1F ID=9 THEN 1B=0 EL
30880 FOR 18=1 TO AVS-1
30890  R=SEBL(IS,0)
30910  SEGL(IS,&)=IL
30920  IC=SEBL(IS,3)
30930  INV=SEGL(IS,4)

30940 NeOHT(R, 3) ' cos
3095 IF mm-'mnunm T=4 ELS

'pointer

g:: m::t,m puif.lr to 501
iy uggnﬂgwmm

s 'ﬂﬁlﬁ,ﬂﬂim UANAINYAY

3022 IF §CIP2,1,2)¢=NV(J,C) 453 THEN 31250 ELSE 31100
31023 IF 10=9 THEN 31030

31024 A=IT-XFB=YT-YF:C=1T-2F 1E=SQR (ASA+BAB4CHC)
31025 Y=XF-NV1J, 00 1Y=YF-NV (], 1)1 1=IF-NV(J,2)

31026 IF SC(P2,1,2)¢=-(ARX+BY+CH1) /E THEN 31250 ELSE 31100
31030 A=NCIP2,0)-XF:B=HC (P2, 1)-YFiL=NC(P2,2)-1F

31050 1=NC(P2,0)-WV13,0)

060 Y=NC(P2,1)-NV(, 1)

3070 1=NCP2,2)-NV(J,2)

31080 IF (ARX+BEY+CST)(=0 THEN 31250

3109 '8 Gen. line

31100 LNB(IL,1B,00=S0L(IR-1) st point (relative)
110 LNLCIL,IB,1)=SOT(IR)  *2nd point

119



3130 "$4380 Boundary check

31140 A=SEBL(15,6) "lst IL of seqeent

31150 IF A=yIL THEN 31200

1160 IFALNT (A, 1B, 0){XLNX(IL, 1B, 1} OR LNX(A,IB, 1)COLNRCIL, 1B,00) THENSLIRO
3170 LNL{A,1B,2)=0 'flag=interior line
31180 60TD 31220

J1%0 A=A+1:B0TO31150

1200 LN1(IL,1B,2)=1000 'flag=boundary line
3210 IL=IL+1

20 IR=IR+1

N IF SOL(IRICH0 THEN 31100

3240 T=T-1:1F T{=0 THEN I=N ’,
31250 NEXT |

270 LNZLIL,1B,00=0 'l

31280  IL=IL+1 [
31290 NEXT 1§ 1

T1300 IF ID49 THEM 33010
1310 "¢{¢{{{{ BCREEN PROJ
J1320 JC=0:dL=0sIA=-1:1B=-
31330 FOR 15= 1 TO AVS-1 _

J1340
31350
J1360
310
31380
31390
31400
31410
1420
31430
I
31450
J14s0
J1470
31480
31490
31500
11510
J1520
31530
3540
31550
J1560
3370
11580
31590
31600
31410
J1620
31630
J1640
J1450
J1bb0
31670
31680
J16%0

"19181 copy segment sC
N=SEGL(15,0)¢1F M=0 JHEN
SEBLIIS,51=IC "keep po
FOR [C=SEBL(IS,T) TO 5
FOR J=0 TD 2:5C(IC, 1,
F==1 'init. off-screen
*Hese8 start
IL=SEBL(15,b) :SEBL(15,6)=
P1=LNT(IL,0,00 sP2=LNTIIL,0,1)
11=SC(P1;0,0) |ﬂ:ﬂlPl,i, il
M[H,ﬂ.ﬂll M ‘
Wi=5X371:M2=E6Y1

W3=SI112:W4=5Y122 fvr
T1=0:T2=1:d=1 g

"848 Screen test E

W 7 600 31500, 31316 m.nm,nm

A=Nl+lle 2:60T0

e )093 /277

A=N2-Y1: 216070 31550

T s e &8990 118 8 2

(A-B)
IF ACO THEN 31600
IF T>T1 THEN Ti=T:60T0 31410

IF T(T2 THEN T2=T
J=1+1:1F J{=5 THEN 31490

"48888 Line clipping k projection

IF T2{=T1 THEN 32070 'garantee the line is off-screen
IF T1=0 AND T2=1 THEN 31830 'line within screen
DE=I2-A11DY=Y2-Y1:D1=12-11
WI=W3-N1tNY=N4-H2

IF T2=1 THEN 31750

T=M1+T20WN s Y=H2+T2ONY

SCIC,1,00=(X1+T20D0) /X
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1700 SCLIC, 1, 1D=(Y1+T28DY) /Y

M0 SCUIC,1,20=11+4128D1

3720 P2=JC-SEBL(1§,5)+1

3730 IF FLAB=31000 THEN IA=P2 'cutting screen outward point
740 JC=JC+!

1750 IF T1=0 THEN 31830

1760 M=WL#TLENX:Y=N2+T1ONY

JTI0 SCUIC,1,00=(X1+T14DX) /Y
J1780  SCOJC, 1, 1)={YL+«T1RDY) /Y
3790 SCIC,1,2)=11+T18D1

JIB00  P1=JC-SEBL(15,5)+!

1810  IF FLAB=21000 THEN 1B=P! ‘'cu
31820 JC=JC+l A
31830 LNTGIL,1,00=P1sLNTIL, 1, 1) 2PRef=0 : 5 in screen

J1840 LNLJL,1,2)=FLAB:IL=JL*

31850 IF IA=-1 OR [B=-1 THEN J :

J1860 "t348 Close the EIW
5 y i

31870 IF SC(IA,0,1)=8C(IB
31880 IF SCIIA,0,1)=0 THEN !
31890 IF SC(1A,0,0)=0 THEMS
31900 IF SC(IA,0,1)=VY THEN
31910 IF SC(1B,0,1)=0 THEW
31920 IF SC(18,0,00=0 THEN J.
31930 IF SCU1B,0,1)=VY THEN

31940 IF =] THEN 32040
31950 ON 1 GOTO 31940,31970,3)
31960 X=0:Y=0:60T0 32000

31970 X=01Y=V¥:60T0 32000
31980 X=VX:Y=VY:60T0 32000
31990 X=\1:¥=0

32000 LND(JL,1,0=1As 1f=iC-SERL:
32010 LNZGIL, 1, 1)=1A:LNEUE, 1,2
32020 SCUIC, 1,00 =X:SCAIE T, D)=s
32025 T=1+111F I)4 THEN [=f
32030 6OTO 31940 ]
32040 LNIGIL,1,00=TAsLNL (L, 1,10=18 *last closed line

= EE ANy TNYIN3

32080 SEGIIIS, 1) 'ﬂwis.,-llnﬂ-ﬂ.rm‘.

1AL U URIINYIAY

33010 ERASE WAX:DIN MNX(10,5)
33020 18=1

33030 IF SEBLIS,1)¢)0 THEN 33190

33040 IF ISOAVS-1 THEN B=SEGT(15+1,5)-1 ELSE B=CLAST

33050 A=SEGX(1S,5)

33055 IF 18=1 THEN IS=0

33060 FOR 1=0 T0 1

33070 MMX(IS, T+1)=SC(A, 1,00 sNNX(IS, 1+3)=SC(A, 1, 1) sNEXT

33080 MAX(IS,5)=A: IF 18=0 THEN 18=1:60T0 33060

33090 FOR IC=A+1 T0 B

33100 FOR 1=0 70 1

3310 IF SCIIC, 1, 1)MNXCIS, 182+1) THEN MMX (IS, 142+1)=8C1IC, 1, 1)
33120 IF SCUIC,1,T)CNNEITS, 14242) THEN MMX(1S, 182+2)=SC(IC, 1,1)
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1325 MNEXITI
NI IF Elml“s,ﬂ..'I,?HSH[EJ,?J THEN MMI(1S,5)=IC

J3140 NEIT IC

T3150 FOR I=0 70 1

13160 IF MMILIS, 182410 JMMRE0, 192410 THEN MNX(0, T92411=MNX (1S5, 142+1)
I3170 IF MMX(TS, 102+2) CHMX (0, 102+2) THEN MHT L0, [02+21=NNX(15, 182+2)
J3180 MEXT [:MM1{15,00=15

30190 18=1S+1:1F ISC=AVS THEN 33030

33200 "{{{{{{{ SCALE ADJUST FOR IS0. & AXD,

33210 IF 10=9 THEN 33320
13220 1SCALE=1

15230 FOR 1=0 10 1

13240 A=ABSIVI/MHT L0, 13241} )
33250 IF @B THEN A<B

33260 IF YSCALEDA THEN XSCALESmw
13265 NEXT 1 —
Y3270 IF ASCALE=1 THEN 33320 ‘
33280 FOR 1C=0 TO ACO-1
33290 FOR 1=0 10 21C(IC, !
33300 NELT IC

T3310 *¢¢¢(C(C SORT MIN. X
T3320 FOR 1S=1 TO AVS-2
IS0 K=MNX(IS,2) $T=NNX (1S, 0
33340 FOR JS=18+1 TO AVS-1
33350 IF MNELIS, 20550 THEN
T30 A=MMI(IS, 2) 1 T=MAL (3,
33370 NEXT 38:1F I=IS THEN 33400
S3380 NNI(T,0)=NNX (15, 0) sNMNI,
33390 WNX(IS, 0)=TsNNX (1S, 2)=1

33400 NEXT 1§ =

34000 *({<{<{C HIDDEN Llﬁm -
3010 1v=0 :
34020 FOR U=1 TO AVS-1

34030 1S=HMX (U, 0) 1

' |
J4040 IF SEGI(IS,00=0 OR (15, 10¢30 THEN 34340 ':hs. H.I'Il"iD
A0S0 34880 copy sc of is ‘o

s 1 w&wmwmm

34080 FOR A=SEBL )
J40%0  FOR 1=0 TO 2:5C(JC,0,1)=SCIA,1,1)sMEXT I

s sty bt 4 | 9 64 IRIINYIAY

420 IL=19JL=1:1=5EBT (IS, 5)

JA30 FOR A=0 TO 2:LNT(JL,0,A)=LNT(1,1,A):NEXT A 'relative ln-sc
JA140  JL=JL+1:DF LNT(I,1,00€>0 THEN I=I+1:60T0 34130

JALS0  "#4388 Trace overlap objectlis in 0,js in 1)

JALB0  K=13V=U

JH70  V=V-1:1F V<1 THEN 34190

SHIB0  JE=MNX(V,00:1IF MMX{J5,1)3MMX{U,2) THEN 34230

190 K=21v=l

JA200 V=V4l:IF VIAVS-1 THEN 36340

4210 IF MIXAV,2)=)MMX(15,1) THEN 36340 'abs. linelist

J4220  JE=MNX(V,0)

34230 IF SEBI(JS,00=0 OR SEG1(JS,1){>0 THEN 34250

J4280  IF MMX(JS,A)CMMICIS,3) AND MMX(JS,3)MMX(1S,4) THEN 34270
J4250 ON K GOTD J4170,34200

122



JA260
270
34780
290
4300
3430
4320
325
J4330
4340
JAT50

370
14380
J43%0

JA0
14420

BLEED]
J4450
T

510

J4500
610
612
Jab14
J4616
Jus18
J4620
Tas30
J4640
BLLLH
4642
Jhb43
b4
JAE45
Jabdb
JALA7
JApag
JAEAT

J4b51

JA656
14660

"RER0Y Overlap test
FLAB=1:L1=IL:L=IL '#lag invis.seq.
IF LNL(L1,0,00=0 THEN 36010 'SURROUND
IF LNLIL1,0,2)41000 THEN 34430
P1=LNTIL1,0,0) :P2=LNX(LL,0,1)
BOSUB 34460 'linel

L2=SEBL IS, 4)

1=8EB1(J8,5)-1

IF LNLTILZ,1,00=0 THEN 34430

IF LNZIL2,1,20€1000 THEN J4420
P3=LNT(LZ,1,00+1:P4=LNTILZ,1,104]
GOSUB 34510 ‘crossl 2
IF T=0 THENM 34420

I3=6C(P3, 1,21 14=SLIPH, byl

U=(12-T1/ (0210 8 (kbbb -

1=(14-13) / (X4-13) HW
IF 114}1] THEN 34440 '
L2=12+1:60T0 34330

Li=L1+1:60TD 34280
IF 11<1] THEN 34230
*-———- linel co.
X1=SC(P1,0,0) £ Y1=5C4
Y2=SC(P2,0,0)1Y2=5C (P2
Al=Y1-Y2: B1=11-12:
?emeee crossl
X3=5C(P3,1,00:Y3=5C(F]
X4=SC(P4, 1,00t YA=SC (P4, 1,
A2=Y3-YA:B2=13-14
IF BL{}0 THEM 34380
IF B2=0 THEN T=0:RETURN _

IF 8200 THEN 3460
X=X31Y=A1/B18 (X-
AL=AL/BI:A2=A2/B2 |
IF Al=A2 THEN T=0:REVOR
IF AL(0 THEN mu ¢

1=(Y3-A2013-Y1+A14X1) / (AL-A2)

,:ammnm um:} NYIRE

IF3XCI1 OR XDX2 THEN 34656 ELSE
IF 3412 OR X>X1 THEN 34456

IF X334 THEN 345643
IF XCX3 OR X>X4 THEN 34456 ELSE JAb44
IF 1¢X4 OR X>X3 THEN 34654

IF Y1)Y2 THEN 34448
IF ¥{¥1 DR Y>Y2 THEN 34654 ELSE J46A9
IF Y(Y2 DR YY1 THEN 34456

IF Y33Y4 THEN 34651
IF Y(Y3 OR Y)>Y4 THEN J4556 ELSE 34452
IF YCY4 OR YXY3 THEN J4656

T=1:RETURN

T=01RETURN

"$93418 Boundary clip
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34670
14680
34690
14700
4710
20
JA730
JATRO
14750
J4T60
W
34780
750
J4800
14810

14830
Jagho
34845

4860
34870

34900

960
970
uan
I
14976

15010
35012
15014
J5016
15018

35070

35100

A1=5P;G0SUB 35040 tedge
BOSUB 35190 'putll
IF C=1 THEN BOSUB 35220:60T0 34730 ELSE P1=IC 'putl2
BOSUB 35090 'crossh
IF T=1 THEN P=C:C=D:D=P:60TD 34480
GOSUB 15240 'putl}
P1=P2: IF P1=5F THEN JATB0 'interior clip
Li=L1#13IF LIXL THEN Li=IL
IF LNTIL1,0,2)<1000 OR LNI(L1,0,00{3P1 THEN 34740 "scan adjac. b-line
P2=LN1(L1,0,1):60TD 34700
"1A1Y interior clip
L2=6EB 135, b)
FOR L1=IL TO JL-1
IF LNTILL,0,21=31000
P1=LNTIL1,0,0) :P2=LNTILL,
IF LNZ(L1,0,2)30 THEN
GOSUB 35090 "crossb
IF T30 THEN
"§18 project line
A1=0:B1=1:605UB
GOSUBTALA9: IF T=0
D=SI6NIX-11)
-L2=B2:605UB 351
IF D=SIBN(X-I1)
BOTO 34980
GOSUB 35240 ’putl3
GOTO 34980
BOSUR J5040° tedge
IF C=1 GOTD 34578
GOSUB 35190:P1=JC:605UB 3309¢
IF T=0 THEN 34980, e
BOSUB 35200:%=t-1z
MEXT L1:60TD 362
'e--—= test edge B
I1=5CIR,1,10-8C(B, 1,00
YY=SC(&,1,01-8CIB, 1,00
IF YO0 1

R 87T N NS

IF 1030 =2

%ﬂﬁﬁﬁf\"lﬂifﬁwﬁﬂmﬁﬂ

<0 THEM XX=4
IF %1=0 THEN XX=7 ELSE XX=8
RETURN
R=P1:B=P211=0160SUB 35000:P=X1
A=P3:B=P4:1=1:BOSUB 35000
P=P-1111F P<O THEN P=P+8
IF P20 AND PCA THEN 33040
IF P»4 THEN 33070
C=1:0=0:RETURN 'out
C=0:D=1+RETURN *in
! ===~ [r0ssh-Crossp
BOSUB 34440 "linel
B=L2
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35t
15120
35130
Jil40
35150
35160
35170
15180
33190
35200
15210

b raly

15250
16010

125

B=B+l

IF LNL(B,1,0)=0 THEN B=SEBL(JS,6)

IF B=L2 THEN T=0:RETURN

IF LNTI(B,1,201000 THEN 35110

PI=LNT(B, 1,00 :PA=LNL(B, 1,1)

GOSUB 34510 ’crossl

IF T=0 THEN 35110 ELSE RETURN

te——-= putll

LN2(L,0,00=P1:LNX(L,0,1)=JC:LNLIL,0,2)=LNT (L1,0,2)4C

SC{JC,0,00=Xs5C1IC,0,1)=Y1JC=C+1:B0TO ssm

fem—m- putl2

LNTIL, 0,00=JC:LNTIL,0,1)=P2:

Pemee putld

LNT(L,0,00=P1:LNXIL,0,1)=F

L=L+1:RETURN ‘

'IlFlltlIIIsﬁuErulnd :;: g ,
MMX (15, 1)=MNK (15, . IH-IIHI[JE §)
AND MNE (U, 2) C=NMX ﬁ""/ ' | '

IF mus,mnmm,n
AND MMX(U,2)=) '

60TO 34250

I=MNT{A,5) *point ne

11=8C(1,1,0):¥1=8C(1,1,

L2=5EGT(B,b)sF=0 "side f

BOSUB 34290 'crossr

Wi=X:113=5C(P3,1,2) 1 24=5CA

D=1-X1:11=(14-13) 4D/ (X4-13)

6OSUB 36290 "crossr

IF T=0 THEN 35210

IF EIEIIIH}SIHII-IH

D:B0TO 35250

K418, 1) =DM (IS, 4)

IF F=0 THEN F=1 ELE!
W3=1: 13=5C(P3, 1, 24a
E=I-N1:1J=(T4-13)0E T

BOSUB 34290 'crossr

IF T=0 THEN 34210

IF SIGNIE) OSIBN(I-11) | g

R 91173

IF F=0
1=(L-11) 8 1X1=W1) / (N3-N1)+21 "depht:of point xt,rl'af surrounder

: “ANYINY
SR T
5 THEN 34780 *interior clip

"PREReEt nextv
IF L}JL THEN IL=JL:dL=L
BOTD 34250
Yememmes CFOSSF
T=0
IF LN1(L2,1,00=0 THEN RETURN
PI=LNL(LZ,1,1)sPA=LNT(L2,1,2)
BOSUB 34510 'crossl
L2=L2+1:1F T=0 THEN 34300 ELSE RETURN
'4181088 Absolute line list & viewport transform.
IF SEB1(1S,1)¢<>0 THEN J&410
SEGX(1S,7)=1V



36360 FOR I=IL TO L-1

36370 AsLNLUIL,0,2)

36380  IF ACY0 AND ACX1000 THEN 36400

36390  BOSUB 34470 "virans

36400 NEIT I

5410 MEXT U

J6420 "((C((C{ DRAM IMAGE L ENDING

36423 PRINTCHRS (12) : BEEP: PRINT®ALREADY....!";: INFUTA

J6430 BOSUB 40300 'draw

J6440 CONSOLEZ1, 4:LOCATED, 24:PRINT

36450 LINE 21,0:CONSOLE2M, 1:5F=1D:60T0

Jb4b0 ' =---—-- Viewport Transformati

S6470 A=LNT{1,0,00sB=LN2(I,0,10

364B0 VL1100, 1VI=6C(R, 0,00 +VY

T64%0 VLTL1,IV)=VY-5C(R,0,1)

VL1(2, IVI=5C(B, 0,01 4V)

10 VLIAT, IV)=VY-5C(B, 0, 1) /VCq Ly

J6520 VLT(0,IV)=-1 "flag ead®of

34530 RETURN ;

40290 ' -==---- DRANLINE

40300 A=VARPTRIVLT(0,0))

40320 POKE ADD#1, VAL (*¥H"+NIDA M
40325 A=USR3 (0) s RETURN
10330 " 1388888401

0340 *  ERASE

40350 " pEE88eaRNs

40355 GOSUB40350:60T01120
40350 X=USR2(0):5F=0:RETURN
10390 " $888R8RLL
10400 *  REPLAY
R L
10415 GOSUBAO300:60T01120.

AULINENINYINS
RINNIUANININY

126



127

prer  1-BO  ASSEMBLY LIST tmnt PRBE= |
ADRE  OBJECT 0P DPRAND COMMENT
s000 00 NOP
&001 00 NOP
s002 00 NOP
5003 00 NOP
600K 00 NOP
005 00 NOP
G006 00 HIIF
b0o7 00 ~NDP
B00B 00
b009 00
b00A 00
L00B 00 -
b0oC 00
5000 00
bOOE 00
B00F 0
010 00
s011 0
&012 00
013 00
6014 00
015 00
6016 00
bO17 00
6018 00
4019 Of
b01A P
6018 007
&01C -
8010 02 |
S0IE 00

BOIF 00 ¢ o nnr

ZﬂﬂEl’J‘leiWEl']ﬂ‘i

QW@MﬂimgélWW’laﬂ
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1181 1-B0 ASSEMBLY LIST #in PABE= 1
ADRS  DBJELT OF  DPRAND COMMENT
k031 CB3A SRL D
5033 CB1B R E
5035  CB3A SRL D
6037 CBIB RR E
5033  CB3A SRL D
6038  CBIR
030 19
b03E Cl
bOIF
bOAD
bOA3
bOAT
6048
bO&A
LOAD
BOAE
5052
505k
5059
bOSC
b0&0
b064
b0&T7
bO&A
- bObB
b0&D
LOBE . —r T ——
ool ')

s -|

o SR
6078 llﬁlﬂt LD DE,000

-kt ATEIRTE

améﬁmﬁﬁwnwmaa

5091 D% En



6092
075
8097

E

5099

:

6090

ZEEEEEEES3EEEERERRERERES

1193 1-B0 ASSEMBLY LIST w1 PABE= 3
DRJECT 0P  OPRAND COMNENT

EDS31060 LD (601ON),DE

11} POP DE

£5 PUSH HL

] ADD  HL,HL

A7

g@ﬁﬁﬂaﬁwmm

B,A

amaﬂﬂiﬁaﬁmwmaa

HIH
50D
b0DC

Ent

Ext
mi LD A4
DIEF OUT  (EFH),A

7 LD A, (K
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ADRS

600D
40DE
SODF
bOE1
bOE3
bOE4
bOES
BOE7
bOES
bOEC
H0ED
SOEE
bOF1
bOFA
0FB
bOF9
LOFC
LOFE
5101
6105
6106
6107
6109
b10A
6108
b10F
110
6112
b113
bll6
bl1A

p12fll

130

1981 1-BO ASSEMBLY LIST mn PREE= &
OBJECT op OPRAND COMMENT

B3 OR E

n LD (HL) A

301 LD A,01H

DIEF T (EFH),A

09 EXX

w ‘g&mwmm

2A1A0 {L01AH)

ﬂ%éﬂﬂmﬂmqwmaa

6128
6129
b12A
6128
b12F

EXX
ﬁ“‘ I‘l.ﬂt

H 30!

EDSB1660 LD DE, (6016H)

£B7A BT 7,1V
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trir 1-BO ASSEMBLY LIST min PRGE= 3
ADRS  OBJECT OF  OPRAND COMMENT
6131 CAJFel P 1,613FH
5134 FDI9 ADD Y,DE
6136 C33F81 JP 613FH
6139 EDSBOESD LD  DE, (6OOEH)
6130 FDI9 ADD  1v,DE
613F  DDES
t141  El
6142 CB7C
b144  C27951
6147 C
bldg B
6149 CA79E
G140 2A005
bIF 23
6150 22008
6153 EB
6154 046
6157 A
6158 EDS2
6154 DB
6158 2A1CE0
bISE A7
615F  EDS2
blel DB
s162 M E
8163 £BJB
6165 e
OB
6189 25~
i1 ;:ﬂ o
5168 1] II-:,lmm

- L

"ﬁummxm'wmm

aﬁ@ﬁﬁiﬁuwﬁmmaﬂ
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18 1-B0 ASSEMBLY LIST min PABE= &
ADRS  OBJECT 0P OPRAND CONMENT

BIBC 110180 LD DE,B001H -

BIBF  DIFFIF LD BC,3FFFH

5192 EDBO LDIR

5194  3EO1 LD A,O1H

196  D3EF OUT  (EFH),A

6198 (9 RET ¥ RETURN #

6199 3EO1
6198 D3EF
6150 09

GI9E  JE00
6180 DIEF
bla2 09
G1AT  ZRIEL
blae 23
blA7  TE
6148 b
b1AA
61AB
b1RE
6181
6184
4186
b1EY
61BC
618D
61C0
8103
b1Cb
biC8
1C9
HH

ummmww*s
aﬁﬁmmmmmmaﬂ

bip2 9 § RETURN ¥
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s ruunazo gl iHaant s udaysamiali - $E1HENN 5 oiadiaaa
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[assign inew dimension & location of choosen object

COMMAND

thiiAsasgaiteas udnandalastu w¥aukiearatuis Tasea

ia‘luﬁuqi‘lin’\iiq View

e Ty 3 un sud a3 ieiEn MMy

e prins B SR b et e 19
dor PN DDA ALY

View from pointi(x,y,z)=_

= & o - w Y
AUNALABNIA  0,-800,250  FEULAITDIMIAUIAMANI IN153D 909U
View destination in coordinate or degree or origin{c/d/o%)_
4 B v o=
LBLATY RETURN (aavymaenwasludaganiliaunuiia  aanuussazd i aivmion

1 E - Y
IEE'II.IIINBEI‘IH'I 1“11““1:““&%1“5“‘[““1’“5 QE““



: . 0, 0
PERSPECT IVE view from U, -gpp, 250 1o 0

- ] w o
LUANTTET 1IN M LATIRUAY  NaL WEAIBENNIA N

136

3-D VIEWING MODULE

view :display parallelcar per tive view

COMMAND :
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